" " Lt A¢ Hr Bin Signal T1tttt (mg, mzo) [TeV] Predicted Observed
T [Gev] | [rad] | [GeV] | name | (1.9,0.1) 1.4,1.1) background data
[500, 1000] | AO01 <0.01 3.02 + 0.24 206 £+ 15 194
[250,450] | 1.0 | [1000,1500] | AO02 0.03 £ 0.01 0.37 £ 0.08 52.5 £ 8.2 48
>1500 AQ3 0.07 + 0.01 0.05 + 0.03 18.0 &+ 4.2 19
[500,1000] | A04 0.03 £ 0.01 0.66 £ 0.11 13.1 £ 2.7 10
=1 | [450,600] | 0.75 | [1000, 1500] | A05 0.05 + 0.01 0.27 + 0.07 45 + 1.7 6
>1500 A06 0.09 £ 0.01 0.03 £+ 0.02 1.7 £ 1.0 5
[500, 1000] | AO07 0.04 + 0.01 0.08 + 0.04 40 £ 1.6 4
[600,750] | 0.5 | [1000,1500] | AO8 0.08 £ 0.01 0.35 £ 0.08 28 £1.3 5
>1500 A09 0.17 £+ 0.02 0.02 £+ 0.02 1.8 + 1.2 2
>750 0.5 >500 A10 1.01 £ 0.04 0.28 £+ 0.07 26 £ 1.1 2
[500, 1000] | BO1 0.01 £ 0.01 2.06 £ 0.20 147 + 11 143
[250,450] | 1.0 | [1000,1500] | BO2 0.04 £ 0.01 <0.01 435 £ 75 37
[6, 8] >1500 B03 0.13 £ 0.01 <0.01 109 + 2.8 12
! [500, 1000] | B04 0.02 £ 0.01 0.54 £+ 0.10 94 £ 22 10
—2 | [450,600] | 0.75 | [1000,1500] | BO5 | 0.0 + 0.01 | 0.17 + 0.06 34 + 17 9
>1500 B06 0.19 £+ 0.02 <0.01 1.39 £ 0.82 2
[500, 1000] | BO7 0.03 £ 0.01 <0.01 24 £ 13 3
[600,750] | 0.5 | [1000,1500] | BOS8 0.10 £ 0.01 0.26 £+ 0.07 1.16 £ 0.90 1
>1500 B09 0.24 £+ 0.02 0.03 £ 0.02 1.05 £ 0.78 0
>750 0.5 >500 B10 1.50 £ 0.05 0.32 £+ 0.08 042 £+ 0.34 3
[500, 1000] | CO1 0.01 £ 0.01 1.03 £ 0.14 329 £ 33 34
[250,450] | 1.0 | [1000,1500] | CO02 0.06 £ 0.01 <0.01 10.6 £ 2.1 5
>3 >1500 C03 0.13 £ 0.01 <0.01 293 £ 091 3
- [500, 1000] | C04 0.03 £ 0.01 0.29 £+ 0.07 1.38 £ 0.50 2
[450, 600] | 0.75 | [1000, 1500] | C05 0.09 £ 0.01 0.20 £ 0.06 0.72 £ 0.39 1
>1500 C06 0.20 £+ 0.02 <0.01 0.66 = 0.45 0
>600 0.5 >500 Co7 1.85 £ 0.05 0.23 £ 0.06 1.66 £ 0.69 2
[250,450] | 1.0 [500, 1500] | D01 0.01 £ 0.01 0.90 £ 0.12 79 £ 1.1 7
-1 ! ’ >1500 D02 0.03 £ 0.01 0.02 £+ 0.02 2.15 £+ 0.67 1
~450 075 [500, 1500] | D03 0.13 £ 0.01 0.72 £ 0.11 1.08 £ 0.39 0
- ' >1500 D04 0.38 £+ 0.02 0.10 £ 0.04 0.50 £+ 0.27 1
[500, 1500] | EO01 0.02 £ 0.01 1.15 + 0.14 7.26 £ 097 9
29 —» [250,450] | 1.0 >1500 E02 0.08 £ 0.01 <0.01 2.81 £ 0.89 4
~450 075 [500, 1500] | EO3 0.23 £ 0.02 0.83 £ 0.12 0.71 £ 0.26 2
- ' >1500 E04 0.72 £+ 0.03 0.20 £ 0.05 0.59 £ 0.31 1
[500, 1500] | FO1 0.03 £ 0.01 0.79 £ 0.11 3.55 £ 0.72 3
>3 [250,450] | 1.0 >1500 F02 0.13 £ 0.01 <0.01 0.83 £ 0.35 0
- ~450 075 [500, 1500] | F03 0.31 £ 0.02 0.26 £ 0.06 0.33 £ 0.17 0
- ) >1500 F04 1.04 £ 0.04 0.17 £ 0.05 0.05 £ 0.05 0




